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ozgsAE ZEH XA
20,000,000 20,000 0 20,000
ASEEdA AT 14,542 15,324 AT82
= 400 400 0
= 400 400 0
= 13,742 14,524 AT82
202 (il 7,042 7,824 NT82
01 SLHOII 7,042 7,824 AT82




SN AN
I AE QM BE(2A/ABOI%IH)
ol SMoIE B (e & 2
SH-EH . C(BH) - NRAY - BES Off &k 7|5 o HRE2
SEEEEEREEE 7,042,000% 7,042 7,824 A782
3= ML 5,112 5,480 £368
201 YBr2 | 1,800 2,000 A200
01 AtR2t2lH] 1,800 2,000 2200
o+ 1,800 2,000 A200
—ZEAMAT ELME S22 NN
1,800,0002 1,800 2,000 A200
202 01t 1,512 1,680 £168
01 2UHOTH| 1,512 1,680 A168
OZEAMYL NESs 1,512,008 1,512 1,680 A168
IS AR (BB M) (IEHIIEH 24,081 26,290 A2,209
ol =2 24,081 26,290 ~2,209
Jl= 2l 24,081 26,290 A2,209
201 YBr2 | 9,621 10,690 A1,069
01 AtR 22l 9,621 10,690 A1,069
Oger+gH| 9,621,000%! 9,621 10,690 A1,069
202 01t 10,260 1,400 A1,140
01 2UHOTH| 10,260 11,400 A1,140
OS M2, HOILH, 43E FH S)
10,260, 00024 10,260 11,400 A1,140
HESS(BBAMD)(BLDS/MG4E - ) 365,460 282,964 82,496
TESEDE 348,964 282,964 66,000
JIEtSIHEES 148,964 82,964 66,000
701 JIEFEI N T ED 148,964 82,964 66,000
NEEEEEEE 148,964 82,964 66,000
STXNPTLALSEIN HES 148,964 82,964 66,000
~SSXPHABLHAF SYNAS
136,964, 0002 136,964 70,964 66,000
SIS 16,496 0 16,496
CESLEE 16,496 0 16,496
802 BH& 2 JIEl 16,496 0 16,496
NEREEECETE 16,496 0 16,496
02010 HOIGH+HRlAlE &X X2
15,200,002 15,200 0 15,200
02011 SYBHHIEY +H2BAH X2
1,296,0002 1,296 0 1,296
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